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. Solve

Assignment-2
z=ax+by+a’+b?
z=a(x+y)+b(x-y)+abt+c

(%

z=f(x+iy)+g(x-iy)

F(x+y+z, x2+y2—zz)

Obtain the P.D.E by eliminating the arbitrary Constants:

Obtain the P.D.E by eliminating the arbitrary Constants:
Obtain the P.D.E by eliminating the arbitrary functions:

Obtain the P.D.E by eliminating the arbitrary functions:
0

Obtain the P.D.E by eliminating the arbitrary functions:

. o . , F(ax+by+cz, x2+y2+zz)=o
Obtain the P.D.E by eliminating the arbitrary functions:

Solve Xp+Yyq =z
Solve 2P +30 =1
Solve PyZ+0QzX =Xy

(mz-ny) p+(nx—Iz)q =ly - mx
x(y-z)p+y(z-x)g=z(x-y)
sovel Y T2 PF(ZX)a=x+y

solve Y2 — POy +0)—qy =0
q2 — m2

Solve

2
SoIvep +
solve 2P° +6p+2q+4=0



